FEr va -~ _— 2N s[s e =
FEMZERBENOS2 =T 23—k E - FHRFAER
ES 4K 58 6A 7R 8A 9A 108 118 128 18 2H 3A £t
SFIBERE ERXE M) 626,383 617,134 725,799 883,117 986,477 972,596 917,854 783,377 808,217 778,822 918,351 871,135 | 9,889,262
T E3
& A= (kWh) 27,879 25,393 31,576 38,771 43,907 41,418 39,046 31,125 31,738 29,462 34,496 30,617 405,428
P FRHE (M) 847,879 719,598 919,898 | 1,249,011 | 1,351,738 | 1,374,457 1,156,206 | 1,059,147 | 1,099,852 924,981 876,656 766,427 | 12,345,850
T 3
&5 A= (kWh) 28,957 22,675 31,269 42,135 44,045 43414 34,433 29,711 29,000 22,675 23,709 20,834 372,857
P FAHE M) 886,514 762,525 802,561 | 1,185,789 | 1,206,074 | 1,221,430 1,060,233 854,289 943,651 889,733 | 1,011,885 969,929 | 11,794,613
T 3
&5 FH = (kWh) 21,748 19,875 23,660 41,915 44,000 46,067 37,204 27,800 32,139 29,129 34,707 32,818 391,062
SHIGEE FRXE M) 910,698 905,697 | 1,213,237 | 1,478,945| 1,531,879 | 1485511 1,297,639 | 1,166,863 | 1,135,537 1,097,869 | 1,199,372 | 1,068,299 | 14,491,546
T 3
fEH=KWh) 29,142 26,079 37,479 44,905 47,644 49,142 40,120 33,341 30,722 29,694 35,429 30,155 433,852
HR 48 58 68 7H 8AH 9R 10H 11H 12H 18 2R 3R =t
PR FAHE M) 69,818 110,249 196,818 298,185 515,622 400,317 319,457 145,699 224,216 308,791 338,116 284,277 | 3,211,565
T 3
ERAZE(m) 425 432 1,968 3,770 7,628 5,581 4,144 1,061 2,335 3,770 4,264 3,349 38,727
P FAXE M) 184,114 101,152 150,168 445,866 496,469 426,228 282,642 110,511 105,134 105,279 97,890 95718 | 2,601,171
T 3
ERAZE(m) 1,738 266 1,138 6,380 7,279 6,035 3,469 400 289 298 343 255 27,890
P ERHE (M) 92,459 21,209 25,321 251,880 321,211 343,310 192,120 56,481 131,289 190,085 212,814 185,957 | 2,024,136
T i3
FEHE(mM) 188 71 170 5,624 7,293 7,825 3,075 676 1,999 3,039 3,441 33,401
SHIBEE FER#E (M) 100,525 24,479 253,158 451,077 695,099 453,552 257,387 78,199 119,775 255,915 212,603 208,972 | 3,110,741
T E3
FHE(M) 1,455 110 3,668 6,050 9,461 8,055 4,425 974 1,419 3,322 3,158 3,099 45,196
LETFKE 4~5H 6~7H 8~9H |10~118/| 12~18 2~3H 5
FRAXE M) - 329,310 380,027 344,707 268,246 221,598 1,543,888
AN
SHISEE —
fFEHA=ZE(m) - 1,044 1,058 929 800 653 4,484
FEAFE (M) 313,472 226,532 408,436 432,242 324,856 252,264 1,957,802
A e
STAEE —
FEA=ZE(m) 895 937 1,087 1,151 928 762 5,760
ERXE M) 234,194 261,510 303,854 329,304 155,268 203,198 1,487,328
EA3 i3
STSEE —
FAZE(m) 680 754 813 837 451 596 4,131
FR¥E (M) 153,844 161,866 321,618 437,928 254,598 336,182 1,666,036
EA3 e
SFIGERE ——
FEAZ(m) 462 476 822 1,115 704 938 4517




